Systematic number bonds

0 The counters show all the number bonds to 7

Complete the number sentences.

0000000 0 + 7 = 7
000000 1T+ 6 =
0000000 + =
CXOROX X X X + =
©0000Ce00® + =
000000 e® + -
©00000C@® ¥ =
0000000 + -

Which number sentences show the same bond?
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e Colour the counters to show the number 27\4
bonds to 5

Complete the number sentences.

OO000O0O ¥ =
OO0O00O * =
OO00O + =
OO000O + =
OO000O + =
OO00O + =

e Find all the number bonds to 6

o Choose a different number.

Find the number bonds.

White
© White Rose Maths 2019 %

-/



